
инструкция по сборке

СКАМЬЯ УНИВЕРСАЛЬНАЯ
REBEL-B16

RPB16



0 1 6 7 8 9 10 11 12 13 14 152 3 4 5 cm

5

6 9 1087

11 17 231918

инструкция по сборке



1

2

3

4

6

8

6
7

6

9

10

22

11

10

7

6

5

No. Кол-во

1 1

2 1

3 1

4 1

5 M12x75 2

6 Φ12 6

7 M12 3

8 M12x130 1

9 M10x70 1

10 Φ10 2

11 M10 1

22 1

инструкция по сборке



инструкция по сборке



23

23

6

6

6

7

6

7

12
13

No. Кол-во

6 Φ12 4

7 M12 2

12 1

13 1

23 M12x70 2

инструкция по сборке



инструкция по сборке



9

9

6

10

10

17

6

7

10
11

10
11

14

15

16

No. Кол-во

6 Φ12 4

7 M12 2

9 M10x70 2

10 Φ10 4

11 M10 2

14 1

15 1

16 1

17 M12x80 2

инструкция по сборке



инструкция по сборке



18

19

18

19

18

19

20

21

No. Кол-во

18 Φ8 8

19 M8x20 8

20 1

21 1

инструкция по сборке



инструкция по сборке


	Страница 1
	Страница 2
	Страница 3
	Страница 4
	Страница 5
	Страница 6
	Страница 7
	Страница 8
	Страница 9
	Страница 10

